In this simulation we need to first model the cause, then the result.
TOOL

Use a 5 sided spinner to model the cause, 1, 2 and 3 to indicate speed accident







4 and 5 to indicate an alcohol accident.

If the accident is speed use a 4 sided figure to indicate a fatality, 1 = fatal.








2, 3 or 4 = non fatal.

If the accident is caused by alcohol, use a dice to determine the fatality 1 = fatal










otherwise = non fatal

TRIAL
One trial of the experiment would be to spin the 5-spinner then either the 4-spinner or the dice.

RECORD

Record the results in a table like this:-



Spinner
Cause

Spinner
Dice

Fatal Y/N



   2

speed                    3

   -                           N



   4

alcohol

      -

   1

        Y



   4 

alc

      -

   5

       N

Repeat the experiment for at least 30 trials.

CALCULATION

Calculation

Probability = 
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